
14

15

11
11

16 1612

3

6
4

5

8

7

29

10 17

1

7

12

13

Glue reinforcements to top plate.

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 BottomPlate Bottom Plate 1
2 SouthPivotBlock South Pivot Point 1
3 BearingHousing Bearing Housing 2
4 ShaftDrive Shaft Drive 2
5 BronzeBushing Bushing 4
6 ISO 7042-M8-N 4
7 TopPlate Top Plate 1
8 TopPlate Reinforce1 Reinforce Top 1 1
9 SM-14-SST-M8x43 1
10 Hexagon Nut ISO - 4032 - M8 - D - N 1
11 TopPlate Reinforce2 Reinforce Top 2 2
12 Dec Segment DEC Segment 2
13 Insert M6 Thread Insert M6 1
14 RolLagerCover 2
15 RolLagerBase 1
16 TopPlate Reinforce3 Reinforce Top 3 2
17 Dobson Foot Voet dobsonbak 3

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

Equatorial Platform

EqPlatform

11/2/14
GW

A3

SHEET 1 OF 1SCALE:1:5

DWG NO.

TITLE:

MATERIAL:

DATE

NAME

FINISH:

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
   LINEAR:             DIN ISO 2768-m
   ANGULAR:

DRAWN :

Universiteit Gent
Vakgroep Fysica & Sterrenkunde
Krijgslaan 281 S9 B-9000 Gent BELGIUM
+32 (0)9 264 47 74

www.kijkerbouw.be

SolidWorks Educational Edition.
 For Instructional Use Only.


	Sheet1
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8


